TARGET To multiply and divide whole numbers by 10, 100 and 1000.

Multiplying — digits move to the left Dividing — digits move to the right

Examples

x/+ by 10 - digits move 1 place
X/+ by 100 - digits move 2 places
x/+ by 1000 - digits move 3 places

386100 + 10 = 38610
9400 +~ 100 = 94
152000 +~ 1000 = 152

756 X 10 = 7560
819 X 100 = 81900
43 X 1000 = 43000

A B C
Multiply by Write the answers only. Copy and complete.
© 473 %10 @ [ ] 10=500000
0O © @ 5900 - 10 ©[ ]-10=21000
O O © 160 x 100 © [ ]x100=3840000
Q20 © 2 © 8200 - 100 © [ |- 100 = 7600
Oces @ © 35 x 1000 © [ ] x 1000 = 290000
gzs 81930 © 90000 + 1000 © [ |- 1000 = 1483
& & cio e @ 17100 x[ ]= 1710000
Divideiby © 27000 - 10
: © 29000 [ |=2900
© 1810 x 100
®r0 @ si00 @ 3000 + 100 © 840 x| |= 840000
@ 2950 €D 2000 ® 718 x 1000 @ 1206000 [ |=12060
@® 4100 € 3700 @ 520000 - 1000 @ 5130000 - ]=5130
Qe @ 800 ' ® 15360 x[ | =153600
@ 8000 @ 10000 Copy and complete. @
; E: How many pounds is ten
@ S @ ke @ D AN thousand pence?
Copy and complete. (14] D +10 = 4200 @ Whatis 10km i
€ [ |x10=2560 ® [ ] 100 = 73000 ileta
@[ ]-10=710 @[ ]+100=150
- What is 25 kg i ?
€ [ | x 100 = 3900 @ [ | x 1000 = 900000 O s ol dn
5 2 > i @ There are 50 pins in each
2 Ml Qi |- 1e00=s0 packet. There are 40
€[ ]x10=5700 ® How many £10 notes packets'in eacht:ox..How
ae rein
@[ ]-10-68 make one million ;1030"3’5;';1:;3 <

€ [ |x 100 = 1000
€& [ ]+100=25

pounds?

@ How many grams are
there in 70 kilograms?

@ How many pounds is four
hundred:5p coins?



